Zimaximum, = 400x + 500y,
subjectto:3x + y<9, x+2y <8, x,y = 0
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Q:01(A) Define the following sets with examples 8
(i) Union of two sets (ii) Intersection of two sets (iii) Empty set (iv) Singleton set.
Q:01(B) 2 3 4 -1 3 5 9
IfA=|2 3 4|andB=|1 -3 -5| Prove that A=A and B*=B
-2 -3 —4 -1 3 5
OR
Q:01(A) IfA={1,2}, B={23} and U= {1,2,34} 8
then verify that (i) (AUB)Y = A' N B’ (i) (ANB)' = A'U B'
'Q:OI(B) Solve the following equations by cramer’s rule. 9
2x+7y=9 and 5x +y=6.
Q:02(A) Evaluate. 9
o lim x%—3x -4 o lim x% - 125
(l)x_>4 x2 —2x—8 (H)x——>5 x? - 25
Q:02(B) Prove that the equation of a line having slope m and passing through the point 9
A, yD)isy—y1 =m (X —xy).
OR
Q:02(A)  Find % of the following. 9
@) y=4C +3 -0 +10 (i) y=logx.x* (i) y= ——
Q:02(B) Preet deposited . 15000 in a bank at 11 % rate of compound interest. What amount 9
will he receive at the end of 5 years ? How much interest will he get .
Q:03(A) Solve the following L.PP using graphical method. 8




Q:03(B)

Q:03(A)

Q:03(B)

Q:04(A)

Q:04(B)

Q:04(A)

Q:04(B)

Solve the following assignment problem for minimunt cost.

l I I v

0 7 14 21
12 17 22 27

12 7 22 27

o B & B v« R

18 22 20 30

OR

Define the following terms.
(i) Compound Interest (ii) Annuity (iii) Sinking Fund

Solve the following LPP using graphical method.
Zmaximum. = 12X + 8}" s
subject to: 10x + 6y <300, x+y <40, x,y = 0

Find maximum and minimum values of the following function.

f(x) = 2x° — 15x* + 36x + 10.

Define the following Matrices with example.

(i) Column Matrix (i) Equal Matrices '(iii) Square Matrix (iv) Unit Matrix.
OR

Solve the following equations using inverse matrix method.

xtyt+tz =3, x+2y+32z=6 and 3x+y+22=6.

Write the rules of determinant.

9
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QO1() A il vy 240, 8

TN

(i) ol ol AL (i) gl B (i) viellowd  (iv) AAsidl ol

Q:01(0ly  _ 2 3 4 . -1 3 5 o
sslA=[ 2 3 4|ud B=|1 -3 -5|dad
-2 -3 -4l -1 3 5
U 5205 A=A »d B*>=B
| w2,
Q:01(x) s A={1,2}, B={2,3} ud U={12,34} dldi 8
(i) (AUBY = A' N B' (i) (ANB)' = A' U B' Y124,
Q:01(6t)  ~{lal-t yailsrme Bl A Gidl. "9
2x+7y=9 el Sx+y=6. '
Q:02(%1)  <ildldl B it 9
o lim x%2-3x — 4 o lim x3 - 125
(I)xm)ll« x% - 2x-8 (n)x-—>5 x2 - 25
Q:02()  2uiford 5205 m aloL Al 2l Axg, yr) Bigiell vair adl Tend wilsen | ?
Y-y =m(x—x) 8.
gl
Q:02(2)  AFwuR z—z- el | 9
@) y=4+3-9x 110 (i) y=logx.x* (i) y= ——

Q:02(c)) Mld 11 % AsleH syl £2 0. 15000 6isHi oyl 599 8. Al A4 5 a4y vid Seell 25w 9
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Q:03(1)

Q:03(41)

Q:03(1)

Q:03(61)

Q:04(20)
(Q:04(01)

Q:04(1)

Q:04(o1)

Woldl ? ded <dley $2¢ wadl,
A2l A0t BUAIs A UrAd BUviAL L Gl
WedY 7 =400x + 500y,

Wl :3x + y<9, x+2y <8, X,y =0
{laletl 514 aduplldl uad W2 <4ddn Gig dodl

1 I 111 v

A 0 7 14 21
B 12 17 2 27
C 12 17 22 27
D 18 22 26 30
wiql
A1) ueldl eqreyl v,

(1) Asaleh ey (i) BySEl (i) Rieslow 4.
flelll YL vy Waed sudnidl 2Ad Gl

Wedd Z=12x + 8y,

Ul 1 10x + 6y <300, x+y <40, x,y =0

[AH4 f(x) = 2x° — 15x" + 36x + 10 <[l HedH 2l 4elan (Bl disl,
{12l sleilst Gelsm Akld arvafid 532,

(i) et Alds () um AMst (i) ded A4l (v) visd Alds,

wiyq|,

flalay walsrel cuzd gt <l Ad Gial,

Cx+y+z =3, x+2y+3z=6 ¥d 3x+y+22=6.
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